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Quadratic Equations Multiple Choice Question

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb


1.  is a quadratic equation

the roots are  then =……….

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x2 + 3x − 1 = 0

α, β α2 + β2

13

4

−13

4

4
13

−4
13

https://dl.doubtnut.com/l/_tgJZyxHjdIy9
https://dl.doubtnut.com/l/_tT7wpYUPvFnm


2.  is a quadratic equation

the roots are  then  is…………

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3x2 − 5x + 2 = 0

α, β α3 + β3

27
35

35

27

−35

27

−27
35

https://dl.doubtnut.com/l/_tT7wpYUPvFnm


3.  is a quadratic equation,

the roots are  then  is………..

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + px + q = 0

α, β α4 + β4

p4 + 4p2q + 2q2

p4 + q4 − 2p2q2

p4 − 4p2q + 2q2

p4 + q4 + 2p2q2

https://dl.doubtnut.com/l/_YXnkEWlZCnni
https://dl.doubtnut.com/l/_UcoWFF6ZRyfT


4. The quadratic equation whose roots are

reciprocal of the roots of the equation

 is-

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ax2 + bx + c = 0

cx2 − bx − a = 0

cx2 − bx = 0

cx2 + bx − a = 0

cx2 + bx + a = 0

https://dl.doubtnut.com/l/_UcoWFF6ZRyfT
https://dl.doubtnut.com/l/_5ksVQWwqHFr2


5. IF  then the minimum value of 

 is…….

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

a > 0

3x2 + 4x + 1

−1

3

1

3

2

3

−2

3

https://dl.doubtnut.com/l/_5ksVQWwqHFr2


6. If , then the minimum value of 

 is………

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x > 0

+ 5(x − )
2

11

3

7
2

3
11

11

3

−3
11

−11

3

https://dl.doubtnut.com/l/_RKU7xCKHpDUe
https://dl.doubtnut.com/l/_PsyrUXjm0SCU


7. Examine 

is re-solvable into two linear factors.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3y2 − 8xy − 3x2 − 29x + 3y − 18

Δ ≠ 0

Δ2 = 0

Δ = 0

Δ3 = 0

https://dl.doubtnut.com/l/_PsyrUXjm0SCU


8. Solve:x(x+y+z)=6, 

A. x=0

B. x=-2

C. x=3

D. x=

Answer: D

Watch Video Solution

y(x + y + z) = 12, z(x + y + z) = 18

±1

https://dl.doubtnut.com/l/_4unkpqsoy91X
https://dl.doubtnut.com/l/_959Nh6jsxiv8


9. The area of a rectangular plot is . The

length of the plot is one more than twice its

breadth. The length and breadth of the plot

are

A. 33m,16m

B. 32m,15m

C. 30m,14m

D. 28m,12m

Answer: A

Watch Video Solution

528m2

https://dl.doubtnut.com/l/_959Nh6jsxiv8


10. IF  have

a common root, then k

A. 1,3

B. 4,6

C. 1,4

D. 3,6

Answer: B

Watch Video Solution

x2 − 4x + 3 = 0, x2 − 5x + k = 0

https://dl.doubtnut.com/l/_959Nh6jsxiv8
https://dl.doubtnut.com/l/_KKUYdlTKiHM2


11. IF one root of  is square

that of the other, then k=………

A. 1

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 − x − k = 0

2 + √5

2 − √5

2 ± √5

https://dl.doubtnut.com/l/_TXIfZZs6UtEA
https://dl.doubtnut.com/l/_VcoIzXTdsgNc


12. IF the sum of the roots of

 is equal to the sum of the

squares of the roots, then……..

A. 

B. 

C. 

D. None

Answer: A

Watch Video Solution

ax2 + bx + c = 0

b2 + ab = 2ac

a2 + bc = 2ab

c2 + ab = 2bc

https://dl.doubtnut.com/l/_VcoIzXTdsgNc
https://dl.doubtnut.com/l/_0ZffrDP6m36p


13. IF  then

the equation whose roots  is……

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

α2 = 5α − 6, β2 = 5β − 6, α ≠ β

,
α

β

β

α

x2 + 5x + 6 = 0

x2 + 5x − 6 = 0

6x2 − 13x + 6 = 0

6x2 + 13x + 6 = 0

https://dl.doubtnut.com/l/_0ZffrDP6m36p


14. 

A. a

B. 

C. 

D. None

Answer: D

Watch Video Solution

√a + √a + √a + ......∞ = ....... .

1 + √4a + 1

2

1 − √4a

2

https://dl.doubtnut.com/l/_JOu35UtPY4P7


15. If the sum of a number and its reciprocal is

, then that number is……….

A. 

B. 

C. 

D. None

Answer: A

Watch Video Solution

17
4

4 or
1

4

4 or
−1

4

−4 or
1

4

https://dl.doubtnut.com/l/_KnmCNIRBJXrB
https://dl.doubtnut.com/l/_ntBlI9RWTTBv


16. IF 3 is one root of  then

k=……….

A. 3

B. 4

C. 5

D. 6

Answer: C

Watch Video Solution

x2 + kx − 24 = 0

https://dl.doubtnut.com/l/_ntBlI9RWTTBv


17. IF the roots of

 are equal,

then k=……….

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

kx2 + x(k − 1) + (k − 1) = 0

1 or
1

3

1 or
−1

3

−1 or
1

3

−1 or
−1

3

https://dl.doubtnut.com/l/_NSKFypm8njRN


18. The roots of  are

A. Rational are equal

B. Rational are not equal

C. Irrational

D. Not real

Answer: D

Watch Video Solution

2x2 − 3x + 5 = 0

https://dl.doubtnut.com/l/_kLKv33biX3lB


19. The condition that the roots of

 may be in the ratio m:n

is………….

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ax2 + bx + c = 0

mnb2 = ac(m + n)2

mnc2 = ab(m + n)2

mnb2 = 2ac(m + n)2

mnc2 = 2ab(m + n)2

https://dl.doubtnut.com/l/_Qkn1dxVwn3C3


20. The equation whose roots are greater by 1

than those of .

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

2x2 + 3x + 5 = 0

2x2 − x + 4 = 0

x2 + 5x + 6 = 0

2x2 + 4x + 7 = 0

3x2 + 4x + 6 = 0

https://dl.doubtnut.com/l/_OUFxBA2G53oZ

